3.2 Classwork						Name:  _____________________________
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Adapted from Mathematical Models, Texas Edition, 2008
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6. a. Determine the slope of each of the following lines:
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b. At first glance, the three graphs in part a may appear to represent the same line. Do
they?

7. For each of the following, determine three additional points on the line. Then sketch a
graph of the line.
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a. A line contains the point (—5, 10) and has slope %




image10.png
*¢ odos sey pue (y— “¢) yutod oy surEIUOd AUN ¥ q




image11.png
=

9=

=

=

>

x<




image12.png
o

10l

>X





image13.jpeg




image14.png
9. The American National Standards Institute

(ANSI) requires that the slope for a
wheelchair ramp does not exceed =

a. Does a ramp that is 160 in. lon,

g and 10 in. high meet the requirements of ANSI?
Explain.

b. A ramp for a wheelchair must be 20 inches high. Determine the minimum

length
of the ramp so that it meets the ANST requirement.
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